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23%x22=(2x2%2)x(2%2)= 2x2x2x2x2 =2(°)=203)+(?),
(2) 10%%10°=(10x10 )*(10x10x10x10x10 )
= 10x10x10x10x10x10x10 =10(")=10(*)+(®)
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(1)78x73.  (2)(-2)8x(-2)’. (3) 64x6.
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(2)(-2)8x (-2)7=(-2)8+7=(-2)15= -2,
(3) 64x6=6%"1=6".
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(4) x3sx5.  (5) 33x(-3)5%.  (6)(a-b)2+(a-b)3.

(4) x3ex>=x3+3=x8,
(5) 32%x(-3)>=32x%x(-3°)=-3%2x3°>=-37,
(6)(a-b ) 2+(a-b)*=(a-b)?*3=(a-b)".
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(4)am.an.al=am+n+l




[$12] FE “#Ek-Xi#ZH" EFTRRIENEREREZS
9.3(4(2iR. MRBXMEETLIF—EX , BBACERESX?
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HEERIIRBHESE , 15
(9. 3x108x108)x(24x3.6x103)
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=803.52x1012=8.0x1021(;x).
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